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GTHT=T 7597 :

HETICTRET 145911 %1 a5 GIae] & 9igq 3k 371 dxed] & 9Ierd BT :

() 3T IeT-97 7 37 F97 & | @t o7 srfdard & |

(ii) I8 §o7-Y7 B: GUSI § 9Tl 3 - @US &, @&, W, "W, FUT F |

(iii) TWUE & - ¥97 G&I1 1 & 20 7% Tglahe iy I97 & | F4% o7 1 37 H7 & |

(iv) @WUE @ - Y97 &I 21 G 24 Il Tg-370T F97 & | T J97 2 b BT & |

Jcdeb Jo7 T I 40 gl F ferfaw |

(v) WIS T — Jo7 T&IT 25 T 29 T% TG-IFFIT F97 & | TP o7 3 37 # & |
Y J97 T I 60 Jsc] T forfgw |

(i) TUE T — J97 &I7 30 T 33 JNH-3707 J97 & | Ic39h J97 5 3% 1 & | Jcdb Jo7
T I 120 5] F fo7f@w |

(vii) GUEF — Y97 G&J7 34 & 36 ST-3TYIRT 97 & | I I97 & GIJ 3 — 3 39-J97
g | 99% Jo74 3% FTE |

(viii) @UZ o H Y97 G&IT 37 HAGT-SNRT 8 | I8 J97 5 37k &1 &, 1 1 sfderd @
(37(%) - 2 37%) 7T YT (37(@) - 3 37%) @ Tafaa & |

(ix) Fo9-99 4 TF W HI3 9% 71 & | agid, FF Fo491 7 ks [FdHcT 17T 7T
§ 1 08 ¥yl 4 @ &aer vk g1 fAseq &7 I [7ET |

x) 3G 3lalkeh, FGIHATER, T9® GUE 3R 97 @& T J9Id 14557 17T T & |

WIS &
(Fgfarehedta o) (20x1=20)

1. 1815 H JHifcEd 1 gR o o1g IO TR F=feifaa o @ fopm wramn @ gf@

off ?

(a) GHSETG

(b) ®fearg

(c)  3qIEI]

(d) ®AHETG

[=1 5=
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This questions paper contains 37 questions. All questions are compulsory.
(it)  This question paper comprises six sections — Sections A, B, C, D, E and F.
(iti) Section A — Questions no. 1 to 20 are MCQs of 1 mark each.

(iv) Section B - Questions no. 21 to 24 are very short answer type questions,
carrying 2 marks each. Answer to each question should not exceed 40 words.

(v)  Section C — Questions no. 25 to 29 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 60 words.

(vi) Section D - Questions no. 30 to 33 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(vii) Section E — Questions no. 34 to 36 are case-based questions with three
sub-questions and are of 4 marks each.

(viii) Section F — Question no. 37 is map-based, carrying 5 marks with two parts,
37(a) from History (2 marks) and 37(b) from Geography (3 marks).

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(x)  In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Multiple Choice Questions) (20x1=20)
1. Which one of the following ideologies were the European Governments

driven by after the defeat of Napoleon in 1815 ?
(a)  Socialism

(b)  Conservatism

(c) Liberalism

(d) Romanticism

32/2/1 3> e P.T.O.
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2. U fava gg ® g kel @ Halda efoifgd O ° @8t foeheq &1 <=M
IS
(a) S, STITECAT-EHI 3T e qohl
(b) s, w3 wF

(¢)  3eoAl, UM TR &

(@) %, AT R
3. 1920 % < H fy=fiiRed 9 € forg g sl geaqul fomivdl ‘§8d 3Icared

o off ?
(a) I TST SR (b) TS
(c) ™ @ S
4., = feu 7w g w1 efgw | e few v aftss wifgcae % AW W gEEnu
3 T8t faemeq 1 =—F hIfST |

%qu :
(a) T Higd U (b) TS U |l
(c)  ALHHIY Ser%a] (d) TR YgEH
qig: FHEcIRaa go7 Fac1 giEaTaa el & /g 397 G891 4 & €& T/
g/
fefetfad o & o TTamii’ & @ 8 2
(a) . .3, de (b) 3.4 gfEm
(¢) SHIfqem B (@ TW HET TS
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2. Choose the correct option from the following regarding Central Powers in
the First World War :
(a)  Germany, Austria-Hungary and Ottoman Turkey
(b)  Britain, France and Russia
(c) Italy, Japan and Russia
(d)  France, Austria-Hungary and China

3. In which one of the following countries was ‘mass production’ an
important feature in the 1920s ?
(a)  United States of America (b)  Poland

(c) France (d) Japan

4, Look at the picture given below. Identify the name of the senior
litterateur shown in the image and choose the correct option.

r’

Options :
(a) Ram Mohan Roy (b) Raja Ravi Verma
(c) Lakshminath Bezbaruah (d) Gangadhar Bhattacharya

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 4.

Who among the following is the writer of ‘Gulamgiri’ ?
(a) Dr. B.R. Ambedkar (b) E.V. Periyar
(c) Jyotiba Phule (d) Ram Mohan Roy
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5. frafafed & @ M- g 3= aoEE R Tfys aut arr &=t § foefia

BT 7 2
(a) oA R dieft (b)  hreAl
(¢) e d) WU

6. 2 o, MHA (A) 3R HRU (R) % &9 ¥ feu 7w & | 241 Al 1 ufey
3R TEl foehey &1 == hifvT |

SYHYT (A) : FY qAT IANT Th-GA o Th 3 |

FRU(R): < H Aifies o™ SIS qen e 39eH i STews
A B |

(a)  ITYHI (A) 3 SR (R) THT T&l & 3 SR (R), AR (A) HI
g ST AT 2 |

(b)  SAfTHA (A) 3T BRI (R) THI T&l &, T BRI (R), 3MHHAT (A) i
HE! AT 7T hdl 8 |

(c)  AMHYT (A) Wl 8, Wg SN (R) Tl & |
d) T (A) A 8, T RV (R) T 7 |

7. 7ry [ <1 Taam &y [T 8 Hifu 3R 98t faeeq <1 === hifse |

ey [ ey 11
(77) (v70)
i. Hledl 1. Q9 94
i, geg 2. o § o TgU o=
iii. oM@ 3. §gdd Yt
iv.  hicAeprdn 4. AT TIftd & dg
EEAERRCKE
ey

(a) 1i-4,ii-3,iii—-2,iv-1
(b) 1-2,11-1,11i-3,iv—4
() 1-2,11i—-4,11i—-1,iv—-3
d i-1,11-21ii—-4,iv—3
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5. Which one of the following soils develops in an area with high

temperature and heavy rainfall ?

(a) Red and Yellow (b) Black
(c) Alluvial (d) Laterite
6. There are two statements given as Assertion (A) and Reason (R). Read

both the statements and choose the correct option.

Assertion (A) : Agriculture and industry move hand in hand.
Reason (R): Industrial development is a precondition for eradication of
unemployment and poverty from the country.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

7. Match Column I with Column II and choose the correct option.

Column I Column I1
(Port) (Type)
1. Kandla 1. Riverine port
ii.  Mumbai 2.  Deepest landlocked port
iii.  Visakhapatnam 3. Biggest port
iv. Kolkata 4. Port developed after
independence
Options :

(a) 1—-4,ii-3,iii—2,iv—-1
(b) 1i-2,ii—-1,iii—3,iv—4
(c) 1-2,11—4,111—1,iv—-3

d) i-1,ii-2,iii—4,iv-3
[EHE
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8. 2 HYH, MHI (A) 3R R (R) % &9 ¥ fu 7w § | 31 HuA! 1 ufey
3R TEl foehey o1 =—H hifvT |

S7YFIT (A) : Sfceraq T 3799 Fiag™ § IR I) g3ned fhu |

FRU(R):  GeNud ) ol Ueh &1 <3 H Ueh 919 @4 H 981 99 & T 9 |

(a) AMMHAT (A) 3T SR (R) ST Tl & W SR (R), AR (A) I
& IR T § |

(b)  SAfIHA (A) 3 BRI (R) THI T&l &, T PR (R), 3HHAT (A) i
el SR gt il g |

()  HAWHI (A) W&l 8, T HR (R) T & |
d) T (A) TEd 8, T RV (R) T B |

9. Tmafafga # @ s-a1 @1y e I’ S99 T ISR 8 2
(a) WRd (b) TIH TST AU
(c)  sfcsem @ wF
10. @y 1 T @79 I[1 8 HIST 3R T8l faehed o1 === i |
&qr 1 &q & 11
i, wg g 1. $N
i, Usg g 2. IR TTFRN
iii. HHadl g 3. Sfhm
iv. TRl o= faw 4. foem
ey :
(a) 1—3,11—1,11i—4,1iv—2 (b) 1—4,11—-3,111—-2,iv—1
(c) 1—2,ii—4,11i—3,iv-1 d i1i-1,ii—-2,iii—-3,iv—4

11. T=afafRea &= 9 9 fred ardsie Staa 9 afganst hi e} s1fienag g 2

(a) Hifesh a3 (b)  3E Hooh
(¢ IdE e (d) TREE
32/2/1 o
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8. There are two statements given as Assertion (A) and Reason (R). Read
both the statements and choose the correct option.

Assertion (A) : Belgium amended their constitution four times.

Reason (R): Amendments were to enable everyone to live together in
the same country.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

9. Which one of the following is an example of ‘coming together federation’ ?
(a) India (b) USA
(c) Belgium (d) Spain

10. Match Column I with Column II and choose the correct option.

Column I Column II

i.  Union List 1. Agriculture

ii.  State List 2. Computer Software

iii.  Concurrent List 3. Banking

iv. Residuary Subjects 4.  Education
Options :
(a) 1-3,ii—1,ili—4,iv—-2 (b) 1i-4,ii-3,iii—2,iv-1
() 1-2,ii—4,iii—3,iv-1 d i-1,ii—-2,iii—3,iv—4

11. In which one of the following regions is the participation of women in
public life the highest ?

(a) Nordic countries (b) Arab states

(c) European countries (d)  Asian countries

32/2/1 <9 > e P.T.O.
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12.

13.

14.

15.

32/2/1

faferRad o= 8 @ sH-a1 &= e g snfya 8 2
(a)  Bf@mom (b) AT JeuI
(c) ofifssm (d)  TSEIH

freferfiga oo o 9 forer Sgaelta sye sl 3(9m 8 2
(a) HIH TS STHTEHT (b) WG

(© =M (d) FATEeE fhren

& T 1 gfd < T 92t faehe &1 =9 hiT |

fovg o R <N 1 ol B o o ITehi o wEqul
ferfrsear wwsh STt 2 |

(a) forem (b)

(c)  ETEeg &M (d) S &R

& g arferent 1 31eRE HIfSTT 3R 3k i feu U g 1 I fefeu
FY 2019 @ 170 YR IR 3G% TSI 391 & P& b

| Tohdd TS ™ | 79 o a0 | foermerft eitoa | fava o ama
([@u.em.) ufd ke | dWifad | Y 2599 AT | TahrE b
IR Sfer o g 3qg Afyh (HDI) w1
(2011 3F STk &THdT) AT (2018)
PIGE 12,707 77 106 73
IRa 6,681 69-7 65 130
AR 4,961 67-1 5-0 148
YTfeREd™ 5,005 673 5-2 154
BRI 3,457 70-8 5-0 143
EIESIEN| 4,976 72:6 6-2 134
frfcrfaa <o ® @ foreeht W foehtd F=hieh (HDI)' T & HaTTe @ ?
(a) R4 (b) AT
(c)  ofishr (@ =9
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12.

13.

14.

15.

32/2/1
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Which of the following States is ruled by a regional party ?
(b) Madhya Pradesh
(d) Rajasthan

(a) Haryana

(¢) Odisha

Which one of the following countries adopted multi-party system ?

(a) USA
(c) China

(b) India

(d)  United Kingdom

Choose the correct option to fill in the blank.

For comparing countries, their

is considered to be one of the

most important attributes by the World Bank.

(a) Education

(¢) Health Status

(b) Income

(d)  Living Standard

Study the given table and answer the question that follows :

Some data regarding India and its Neighbours for 2019

Country Gross National Life Mean Years | HDI Rank
Income (GNI) per | Expectancy | of Schooling | in the world
capita (2011 PPP $) at birth of People (2018)
aged 25 and
above
Sri Lanka 12,707 77 10-6 73
India 6,681 69-7 65 130
Myanmar 4,961 671 50 148
Pakistan 5,005 67-3 52 154
Nepal 3,457 70-8 50 143
Bangladesh 4,976 72-6 6-2 134

Which of the following countries has the highest level of ‘Human

Development Index (HDI) ?
(a) India
(¢) Sri Lanka

(b)  Bangladesh

(d) Nepal

<at>
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16.  JThideh 3cUTGl ohl 3 ®UI H URElAd fpaT ST HEaTd g :

(a) i 3R b) Tedues 3care
(c) i 391G (d) =g 3G

17. Tm=fafea 8 @ wF-E swmfed &me 6w fosiva 2 2
(a) TSR <1 arafy fafia g 2 |
(b) N % UTH FHTad M g1 7 |
(c) 3Tohl HS U= HfshT T HRITEMY 7 |
(d) T o fafw ga 8 weg 391 uTed 81 gt & |

18. fr=fefgd # & wia-dt smyfas w9 i it 2 2
(a)  <hUTST o I (b) G % foas
(c) =g o ek (@ die % e

19. Tafafga w=h afem =1 sH-Er 9 v &9 8 KU & 3T(had

gfeerd ITed Hidm g ?
(a) TR 9ER (b)  HH INHYRNT Tl IR
(c) HHg UNaR (d)  FHR IiER

20. fr=fafea o @ SH-dt dvelieptor 61 T Al 8 ?
(a) U IERI T U5
(b) % Ffcw qeh g
()  STaUg weff g

o

(d) SIgIEH g B
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16. Natural products being changed into other forms is known as :
(a)  Primary product (b) Secondary product

(c) Tertiary product (d) Quarternary product

17. Which one of the following is a feature of the unorganized sector ?
(a)  Terms of employment are regular.
(b)  People have assured work.
(c) They have some formal processes and procedures.

(d)  There are rules and regulations but not followed.

18.  Which one of the following is the modern form of currency ?
(a)  Paper notes (b) Gold coins

(c) Silver coins (d) Copper coins

19. Which one of the following categories of urban households take the

highest percentage of loan from the formal sector ?
(a)  Poor households (b) Households with few assets

(¢) Well-off households (d) Rich households

20. Which one of the following is a challenge of Globalisation ?
(a)  Access to New Markets
(b)  Access to New Talent
(c) International Recruitment

(d)  Disproportionate Growth
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Qs @

(arfar wrg-3wia wew) (4x2=8)
21. (%) 3 h TGN ohl Tehishd hid ATel TG oh qcaehdl J&I Wil L i
fHehT w1 forgersor HifvT | 2
aroran
(@) IHEE! Iaed o GRE T § IERATET TS oh O i W@ hifee | 2
22, WA H st G0 & foru fohegl Q1 Uil <l g difve, | 2x1=2
23. 1956 H #IhIs AHAI! ohl ARISAT T 9§ 75 ? I SHITT, | 2
24.  “1 FoleR I UTH gRfETa § gehed <aT 7, W&l A 91el fFehar Sl s
2 1” 39 %Y il W@ FHIfu | 2
wWuE T
(erg -3 Ie) (5x3=15)
25. (%) 9 H ggur fond TR Stfedea § I 2 e Hifw | 3
HAAT
(@) foramei dh 9g9 HAEH BH ¥ fFH TR dgd hi Th 3 G&hid forhfed
TS ? AT HIT | 3
26. ‘Tt adft fopareremdl & foIw stawees 3 1”7 39 wuA Y 3R Afgd ST
ST | 3
27. UG U Higesi i werdal o sM % di9 SU G | 3x1=3
28. YrAfyes wa fediues &5 o Iergwon dfga 37av wuse hifvw | 3
29. UNd H JAeh &Ah o FGd He i W@ HIMT | 3
Qus Y
(Sreh- 3w we) (4x5=20)
30. (%) HlaTa G AGIAH H HIHRA Gl shi a1 1 faeetsor T | 5
HAAT
(@) WfeTa STasT TeieH | Aigerstt i fieht w1 foveryor HivT | 5
31. (%) WRA H IR SHifeehl Farg R ARSI Hiv hl fomivameT i samen
HIT | 2+3=5
HAYAT

(@) WRA H e Skl @ U907 iy hi ToRIyarsti shi & HifvT | 2+3=5
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SECTION B

(Very Short Answer Type Questions) (4x2=8)

21. (a) Analyse the role of Chief Minister Cavour who led the movement
to unite the regions of Italy. 2

OR

(b)  Examine the ideas of liberal nationalism in Europe during the
nineteenth century. 2
22. Suggest any two ways to conserve wildlife in India. 2x1=2

23. Why did the feeling of alienation increase among the Sri Lankan Tamils
in 1956 ? Explain. 2

24. “Credit pushes the borrower into a situation from which recovery is
painful.” Examine the statement. 2

SECTION C
(Short Answer Type Questions) (6x3=15)
25. (a) How did print come into existence in Europe ? Explain. 3
OR

(b)  How did access to books create a new culture of reading ? Explain. 3

26. “Energy is required for all activities.” Explain the statement with
examples. 3

27. Suggest three steps to enhance the literacy rate among women in
India. 3x1=3
28. Differentiate between primary and secondary sectors with examples. 3
29. Examine the rising importance of the tertiary sector in India. 3

SECTION D

(Long Answer Type Questions) (4x5=20)

30. (a) Analyse the role of the business classes in Civil Disobedience
Movement. 5

OR

(b)  Analyse the role of women in Civil Disobedience Movement. 5

31. (a) Explain the features of primitive subsistence and commercial
farming in India. 243=5

OR

(b) Explain the features of intensive subsistence and plantation

farming in India. 2+43=5

32/2/1 <15 > e P.T.O.
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32. (%) 3 uifeyufan = faveryor Hifse fSH drerdiie smem sreedmd amTioren

fafayarsn & amere weanfia &t 2 | 5
HAAT
(@) 37 uitfeafn &1 favavo Hifse S0 it e sgaEed anTien
h! TRAT 3R STTATET i FEET ot 3 | 5
33. (%) UL HUCAT [hH THR fawawl % IGT I Th-ga § ISl 3 ?
32180 Eigd Tqse <hIfT | 5
HAAT
(@) faesft fraw & fdd 0 & foiu Sg @ U= TRl g fhe e
foregl = Ul <hl AREAT iU | 5x1=5
Qus g
(FE-ATATRE T ) (3x4=12)

34. feu U G i ufew 3t sHes = feu u g & IS fafaw

e fava gg a6 shenfies faeem offmn @1 | g 7 o foogpa 8 feurfa
9 @ ot | Tl wr@Em & f1 FE@ B QU B € g gel
3cqTed § =95 ¥ SHMY YRA § B9%c & AT o1 7T A & T | YR
SR ! TN T oot oot e e e | gg aen Rgen @t vrd
FR@H B off B9 & fou s i aifa, s & e adf & #ug, e ik
TS % Id, HIg o = hl S AT FFd R 31 HHH S T | 7T HREH
MY T | O HREM 3 el H T o | §gd 91 A 76U I HH T
@ T 37 Bk I Ugal | ft ST T0F G M BT 9SdT AT | g o GNH
e firer Icared asit 9 9QT |

g o 91¢, YA SR § D% i Ugdl arct! afad sl giied T8l &l
Rt | Ig o TG YRR T L U 3R ST, S T S o Gehrec
HHAIAR IS A o HRUT 51 1 fefezeed] =ay 715 off | HUE 1 391G §5d
H T T AT IR fored & g et gt pue o i § sergsd fae o |
Sufesn o foceft IcuTgl gt TATT ITTAfT J SRe ST 9T el ohl

forem ot ofR-efR srot fefa st &1 <t |

(34.1) YRA H A= o HIA 1 AT HH 1 & 7T ? 1

(34.2) 9 fava g & 91¢ YA SR § B Sl T8t dTell gradd &t
ERIRASKIC KR Ef 1

(34.3) YoM fava qg @ wRA ! 14 a1el Tohegl 1 oot bt forwermor hifw | 2x1=2
[=1%[s]
32/2/1 e,
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32. (a) Analyse the conditions under which democracies accommodate

social diversities. 5
OR
(b)  Analyse the conditions under which democracies promote dignity
and freedom of citizens. 5
33. (a) How do Multinational Corporations (MNCs) interlink production
across countries ? Explain with examples. 5
OR
(b) Explain any five steps taken by the Central and State
Governments to attract foreign investments. 5x1=5
SECTION E
(Case-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :

Yet, till the First World War, industrial growth was slow. The war
created a dramatically new situation. With British mills busy with war
production to meet the needs of the army, Manchester imports into India
declined. Suddenly, Indian mills had a vast home market to supply. As
the war prolonged, Indian factories were called upon to supply war needs:
jute bags, cloth for army uniforms, tents and leather boots, horse and
mule saddles and a host of other items. New factories were set up and old
ones ran multiple shifts. Many new workers were employed and everyone
was made to work longer hours. Over the war years industrial production
boomed.

After the war, Manchester could never recapture its old position in
the Indian market. Unable to modernise and compete with the US,
Germany and Japan, the economy of Britain crumbled after the war.
Cotton production collapsed and exports of cotton cloth from Britain fell
dramatically. Within the colonies, local industrialists gradually
consolidated their position, substituting foreign manufacturers and
capturing the home market.

(34.1) Why did Manchester imports decline in India ? 1

(34.2) Why could Manchester never recapture its old position in the
Indian market after the First World War ? 1

(34.3) Analyse any two benefits of the First World War to India. 2x1=2
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35. feu U Eiq =1 ufeu 31k 38ek = fou 1w wedi & I fafaw .

I& IR W 3T fehat Ut 39k Iegai H fIwdd 81 S W 2 |
IE Ueh fogsn &1 2 fop S 9Ty arg e & fow a9 Sd 8 39 o |
dADe JHT 8 ¥ o o1¢ 37 hT IR 99 JTd @ | Ak 9T g <kl eom d i
e 9y H} 3 IR 1¢ oo ¥ %A Wd 8 | A UeT BN Tk 9§ 2006 H
HERTSe 3R oA § 9K 991 & SRE a9l ¥ SIS T I 6l g & 91§ 6!
feufa ofit Wt faepe &1 78 | 34 SRl | 7 S 9 AR HATA 1 THAW gAT
HUg F8q T W Ja1 ARG it g7 | 914 o JA W qASE FHT Bl 1 31
Iz i 2 foh 98 qor@e S foh U Wi I @ 916 o HQMI I gl ugad]
Sk s yfi fefiero i geemd sed! € | a8 ot 7 S @ o sg-seE™
AT h RO oY T hi GHTEHT Ht g ATt g 3TN AHAUH A oh ITA
Y JA-Sq AT, BEaAi § HIV-SHG SHTNET 3 TgH0 Herd 2 |

(35.1) TG | ¢ IRISHT o fog 3T @1 A9 Tt | 1

(35.2) 3TcAYh N1 B4 <hl <o § Ah 92 o919 fhd IR a1¢ =90 §
ITHA & & ? 1

(35.3) 9§33 A TRASISTT < fohral QI ATl o1 forweiwor HfT | 2x1=2

36. feu U €q ol ufey 1R I8ek = fou 1w WAl & I fafaw -

TSTHi{deh el ol 3ed WfdHdcd T YT TAlehdizeh sqaedqT & 3IUN &
Y ST 3 | B9 UG b & b 9 ATl o faw gfaffeea smufa dveras i
TE B R | 9 GO §9¢ 3R Afee & 9§ a9 3= fafie mEl W
JAT-ITAT foami e 3T ThR hl T9R T AW o fou fomelt mmeay =
ToHl hI T Bt 7 | foft Seet @ o fafafer s wny e h S
BId] & dTieh Teh AR TR o1 T3 8l Heh | 378 TLHT b1 THYA 3 I7 30
W AHA W@, Al aam iR A=l &1 gmeA srean foig w6 & o
39RO hl T Bt & | Ideh SfaHig-swehr i tH S i sed sl s,
TSI C& 31 U hd & | 59 T &H g Hehd & 1oh TSN Gal TAIehad
i T AHEE Td 2§ |
(36.1) TarHIfaes g1’ o 319 ol TUse HfT | 1
(36.2) “TSifae Tt 1 3gu gfdfAfea W e cehdites saaTe % IUR

% Y ST 7 |7 38 HeH i gfte v |
(36.3) TUSHIfdeh T T Alhdd hl Teh A Id 8 ? TS T | 2
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35. Read the given source and answer the questions that follow :

Most of the objections to the projects arose due to their failure to
achieve the purposes for which they were built. Ironically, the dams that
were constructed to control the floods have triggered floods due to
sedimentation in the reservoir. Moreover, the big dams have mostly been
unsuccessful in controlling floods at the time of excessive rainfall. You
may have seen or read how the release of water from the dams during
heavy rains aggravated the flood situation in Maharashtra and Gujarat
in 2006. The floods have not only devastated life and property but also
caused extensive soil erosion. Sedimentation also meant that the flood
plains were deprived of silt, a natural fertiliser, further adding on to the
problem of land degradation. It was also observed that the multi-purpose
projects induced earthquakes, caused water-borne diseases and pests and
pollution resulting from excessive use of water.

(35.1) Name the movement against the river project in Gujarat. 1

(35.2) How have the big dams mostly been unsuccessful in controlling
floods at the time of excessive rainfall ? 1

(35.3) Analyse any two merits of multi-purpose river projects. 2x1=2

36. Read the given source and answer the questions that follow :

The rise of political parties is directly linked to the emergence of
representative democracies. As we have seen, large societies need
representative democracy. As societies became large and complex, they
also needed some agency to gather different views on various issues and
to present these to the government. They needed some ways, to bring
various representatives together so that a responsible government could
be formed. They needed a mechanism to support or restrain the
government, make policies, justify or oppose them. Political parties fulfil
these needs that every representative government has. We can say that
parties are a necessary condition for a democracy.

(36.1) Explain the meaning of a ‘political party’. 1
(36.2) “The rise of political parties is directly linked to the emergence of
representative democracies.” Support this statement. 1

(36.3) Why are political parties a necessary condition for a democracy ?
Explain. 2

32/2/1 e P.T.O.
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QU o
(wrfer SitvTe seTfa uea) (2+3=5)

37. (%) WNA % fgu MU TSHITdS WA (I8 23 W), | & T A 3B
w9 | eue U g | fefdfgd SHee) hl wErEar 9§ 39 g8 AW 36

Tfly i 73 et W fafen
i) o8 TH & foorey, 1920 U WRA™ TS il &1 AfyasH
7T | 1
(i) % TIM &I SAlcriaral SN HeAT 83 | 1
(@) 9Ra & g UoHifae W@rams @ Feafafgs & @ 6 a7 &
I Togl @ guifsy 7R 3 AW fafeu : 3x1=3

() TSI — HIFEAI THTATST TTeh

(i) SATNSHAT — AB-TTEh hl TH
(it)) ARG — T sl G
(iv) @feean — qggh
Fieg:  [AElaiad Jv7 Fac glEETEaT ghefdEt & g ye7 G&wr 37 & €A |
&/
187 gia 3ol & 3 e | v 1os

(37.1) 39 ®M 1 49 fafgy J&f foarsy, 1920 4 9™ Ui HEE
HfaTH g3 |

(37.2) 39 TIM 1 W fIRgT ST Sfefaran svT = g8 |

(37.3) WA o ikl o fohelt Teh TY@ IcUTEeh T ol A1 fARgu |

(37.4) 38 TSY 1 M faRgu S8T Joifse dg-3¥%h 6l @ 8 |
(37.5) 3T =T &1 9 forfage STgf araqe w3t w2 fedm 3 |
(37.6) 3I° USA 1 M TaIRIT gl sfeean aqg! 9a1 &@ 3 |

32/2/1 o

Get More Learning Materials Here : & m @&\ www.studentbro.in



SECTION F
(Map Skill Based Question) (2+3=5)

37. (a) Two places A and B have been marked on the given political
outline map of India (on page 23). Identify them with the help of
the following information and write their correct names on the

lines drawn near them :

(1) The place where the session of the Indian National Congress
was held in December, 1920. 1
(ii))  The place where Jallianwala Bagh incident occurred. 1

(b)  On the same political outline map of India, locate and label any

three of the following with suitable symbols : 3x1=3
(1) Noida — Software Technology Park

(ii))  Bailadila — Iron-ore mines

(iii) Tarapur — Nuclear Power Plant

(iv) Haldia — Sea port

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37.

Answer any five questions. 5x1=5

(37.1) Name the place where Indian National Congress session took place
in December, 1920.

(37.2) Name the place where the Jallianwala Bagh incident occurred.
(37.3) Name any one major coffee producing state of India.

(37.4) Name the state where Bailadila iron ore mines are located.
(37.5) Name the state where Tarapur nuclear power plant is located.

(37.6) Name the state where Haldia sea port is located.

32/2/1 l2> o
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Examination,2023
SUBJECT NAME SOCIAL SCIENCE (SUBJECT CODE J3265A)
(PAPER CODE 32/2/1)

General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct assessment of the
candidates. A small mistake in evaluation may lead to serious problems which may affect the future of the
candidates, education system and teaching profession. To avoid mistakes, it is requested that before starting
evaluation, you must read and understand the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the examinations
conducted, Evaluation done and several other aspects. Its’ leakage to public in any manner could lead to
derailment of the examination system and affect the life and future of millions of candidates. Sharing
this policy/document to anyone, publishing in any magazine and printing in News Paper/Website etc
may invite action under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done according
to one’s own interpretation or any other consideration. Marking Scheme should be strictly adhered to and
religiously followed. However, while evaluating, answers which are based on latest information or
knowledge and/or are innovative, they may be assessed for their correctness otherwise and due marks be
awarded to them. In class-X, while evaluating two competency-based questions, please try to understand
given answer and even if reply is not from marking scheme but correct competency is enumerated by the
candidate, due marks should be awarded.

4 The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The students can have
their own expression and if the expression is correct, the due marks should be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first day,
to ensure that evaluation has been carried out as per the instructions given in the Marking Scheme. If there is
any variation, the same should be zero after delibration and discussion. The remaining answer books meant for
evaluation shall be given only after ensuring that there is no significant variation in the marking of individual
evaluators.

6 Evaluators will mark( N ) wherever answer is correct. For wrong answer CROSS ‘X” be marked. Evaluators

will not put right (v')while evaluating which gives an impression that answer is correct and no marks are
awarded. This is most common mistake which evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks awarded for different
parts of the question should then be totaled up and written in the left-hand margin and encircled. This may be
followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin and encircled. This may
also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more marks should be retained
and the other answer scored out with a note “Extra Question”.
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10 No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11 A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question Paper) has to be used.
Please do not hesitate to award full marks if the answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day and
evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects (Details are
given in Spot Guidelines).This is in view of the reduced syllabus and number of questions in question paper.

13 Ensure that you do not make the following common types of errors committed by the Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly and
clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)
e  Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as cross
(X) and awarded zero (0)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the Board.
Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions be followed
meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot Evaluation”
before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page,
correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the prescribed
processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again reminded that they
must ensure that evaluation is carried out strictly as per value points for each answer as given in the Marking
Scheme.
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SET -32-2-1 MARKING SCHEME MM-80
SOCIAL SCIENCE (087)
MARCH 2023
Q. VALUE POINTS
NO.
Section — A 1X20=20
(Multiple Choice Questions)
1 (b) Conservatism 1
Pg.10
2 (a) Germany, Austria-Hungry and Ottoman Turkey 1
Pg.68
3 (a) United States of America 1
Pg.70
4 (c) Lakshminath Bezbaruah 1
Pg.126
For Visually Impaired Students
(c) Jyotiba Phule
Pg.126
1
5 (d) Laterite 1
Pg.10
6 (b) Both (A) and (R) are true but (R) is not the correct explanation of (A) 1
Pg.65
7 (a) -4, 1i-3, 1ii-2, iv-1 1
Pg.85
8 (a) Both (A) and (R) are true and (R) is the correct explanation of (A) 1
Pg.4
9 (b) United State of America (USA) 1
Pg.25
10 (a) i-3, ii-1, 1ii-4, iv-2 1
Pg.16
11 (a) Nordic country 1
Pg.44
12 (c) Odisha 1
Pg.82
13 (b) India 1
Pg.77
14 (b) Income 1
Pg.08
15 (d) Sri Lanka 1
Pg.08
16 (b) Secondary Product
Pg.20
17 (d) There are rules and regulations but not followed. 1
Pg.30
18 (a) Paper notes 1
Pg.40
19 (d) Rich household 1
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Pg.49
20 (d) Disproportionate Growth 1
Pg.61

Section -B 4x2=8
(Very Short Answer Questions)

21 (A) Analyse the role of Chief Minister Cavour who led the movement to unite 2
the regions of Italy.

(i)  Chief Minister Cavour who led the movement to unify the regions of Italy was
neither a revolutionary nor a democrat.

(i) Like many other wealthy and educated members of the Italian elite, he spoke
French much better that he did Italian.

(iii) Through a tactful diplomatic alliance with France engineered by Cavour,
Sardania — Piedmont succeeded in defeating the Austrian forces in 1859.

(iv) Any other point.

(v) To be assessed as a whole. Pg.21
OR
(B) Examine the ideas of liberal nationalism in Europe during nineteenth
century.
(i) For the new middle classes liberalism stood for the freedom for the 2

individual and equality of all before law.
(ii) Politically it emphasised the government by consent.
(iii) Liberals also stressed the inviolability of private property.

(iv) In the economic sphere, liberalism stood for the freedom of market and
abolition of state imposed restrictions on the movement of goods and
capital.

(v) Any other relevant point

Any two points to be explained. Pg. 21

22 Suggest any two ways to conserve wildlife in India. 2x1=2

Wildlife (Protection) Act was implemented in 1972with various provisions
for protecting habitat. (Ban on hunting, poaching, encroachment, legal
protection to wildlife habitat, restricting trade in wildlife, established
national parks and wildlife sanctuaries, initiated various projects)

(i) Organize wildlife club/ nature clubs to create awareness among people.
(ii) Enabling wildlife conservation-friendly community empowerment.
(iii) Introducing afforestation programs.

(iv) Controlling forest fire.

(v) Proper utilization of forest resources.
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(vi) Any other relevant point

Any two points to be explained.Pg.63
23 Why did the feeling of alienation increase among the Sri Lankan Tamils in 1956? 2x1=2

Explain.
i. In 1956 an act was passed to recognise Sinhala as the only official
language thus disregarding Tamil.
ii. The governments followed preferential policies for university positions
and government jobs for Sinhalese.
iii. The new constitution stipulated that the State shall protect and foster
Buddhism.
iv. Sinhala government ignored the interests of Tamils through their
majoritarian policies.
v.  Any other relevant point.
Any two points to be explained. Pg.3
24 “Credit pushes the borrower into a situation from which recovery is painful.” 2X1=2

1 Repayment of the loan is crucially dependent on the income from farming
it The failure of the crop made loan repayment impossible.

i1 .Sometimes the borrower is not able to repay the loan.

iv Many a times borrower is caught into the situation of debt-trap.

v To repay her loan person has to sell a portion of her/his land.

vi The situation of the person gets much worse off than before.

vii Any other relevant point

Any two points to be explained. Pg.44

Section —-C 5x3=15
(Short Answer Questions)

25 How did print come into existence in Europe? Explain. 3x1=3

(i)  In the eleventh century, Chinese paper reached Europe via the same
route.

(i)  Paper made possible the production of manuscripts, carefully written by
scribes.

(iii) Marco polo took away and spread the technology to Europe.

(iv) Italians began producing books with woodblocks, and soon the
technology spread to other parts of Europe.

(v) Merchants and students in the university town bought the cheaper printed
copies.

(vi) Book fairs were held in different places.

(vii) The break through occurred when Johann Gutenberg developed the first
printing press.
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(viii) Any other relevant point
Any three points to be examined. Pg. 108
OR 3x1=3
(b)How did access to books create a new culture of reading? Explain.

(i)  Earlier reading was restricted to the elites. Common people lived in a
world of oral culture. They heard sacred texts read out, ballads recited,
and folk tales narrated.

(if)  With the printing press, a new reading public emerged.

(ili)  Printing reduced the cost of books. Multiple copies produced with
greater ease.

(iv) Books flooded the market, reaching out to an ever-growing readership.

(v) Now books could reach out to wider sections of people.

(vi) People started writing and publishing popular ballads and folk tales and
were illustrated with pictures.

(vii) Any other relevant point

Any three points to be examine.
Pg.111
26 “Energy is required for all activities.” Explain the statement with examples. 3x1=3
(i)  Energy is a basic requirement for economic development
(ii) Every sector of the national economic- Agriculture, industry, transport,
communication needs inputs of energy.
(iii) Required in vehicles.
(iv) To drive machinery in industries.
(v) Required in all the facets of life.
(vi) Required in household.
(vii) Used in all commercial requirements.
(viii) Any other relevant point
Any three points to be explained. Pg. 58
27 . . . 3x1=3
Suggest three steps to enhance the literacy rate among women in India.
(i)  Government should initiate literacy enhancing programmes for urban as
well as grass root level.
(ii) Counselling sessions for parents and society for the promotion of
enrolment and education.
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(iii) Increase literacy campaigns to educate the girl child by enrolling them in
formal schools.

(iv) Initiating educative programs and propaganda to break down traditional
prejudices, against girl’s education.

(v)  Granting concession in the form of scholarships to poor and meritorious
girl students.

(vi) Effective enforcement of compulsory education of girls.

(vii) Providing other convenience and incentive. Such as adjustment of school
timings, free mid-day meals, free medical and health facilities etc.

(viii) Develop an environment where women could demand information.
(ix) Inculcate the confidence in women.

(X)  Any other relevant point
Any three points to be explained. Pg.32

28 Differentiate between primary and secondary sectors with examples. 3x1=3
(1) In primary sector, there are many activities that are undertaken directly using

natural resources. While secondary sector covers activities in which natural
products are changed into other forms.
(11) Primary sector depends mainly but not entirely on natural factors like rainfall
, sunshine and climate while secondary sector is based on industrial activity.
(ii1))  Cotton farming is primary activity while cotton textile is secondary activity .
(iv)  Primary sector contributes to the first process of production while secondary
sector adds value to the primary sector product.
v) Any other relevant point.

Any three points to be explained. Pg.no20

29 Examine the rising importance of the Tertiary sector in India. 3x1=3

(i) The tertiary sector provides basic services like public transportation,
medical care, electricity, banking, post office, etc

(ii) This sector creates employment even for uneducated and unskilled
workers.

(iii) The development of agriculture and industry leads to the development of

services such as transport trade etc.

(iv) As income levels rise the demand of tertiary sector also get enhanced.
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(v) Over the past decade or so certain new services such as those based on
information technology have become important and essential.
(vi) Any other relevant point.
Any three points to be explained. Pg.25
Section -D 4x5=20
(Long Answer Questions)
30 (A) Analyze the role of business Classes in Civil Disobedience Movement. 5X1=5
(i)  Indian merchants and industrialists wanted to expand their business so
they reacted against colonial policies in the Civil Disobedience
Movement.
(i) They wanted protection against imports of foreign goods, and a rupee-
sterling foreign exchange.
(iii) To organise business interests, they formed the Indian Industrial and
Commercial Congress in 1920 and FICCI in1927.
(iv) FICCI was formed by prominent industrialists like Purshottamdas
Thakurdas and G.D. Birla
(v)  The industrialists attacked colonial control over the Indian economy.
(vi) They gave financial assistance and refused to buy and sell imported goods.
(vii) Any other relevant point
Any five points to be explained. Pg. 66
OR
(B) Analyse the role of women in Civil Disobedience Movement. 5X1=5
(i) Large-scale participation of women in Civil Disobedience Movement.
(ii) During Gandhiji Salt March thousands of women came out of their homes
to listen to Gandhiji.
(iii) They participated in protest marches.
(iv) They manufactured salt
(v) They picked foreign cloth and liquor shops.
(vi) Many were also arrested and sent to jail for participating in these
activities.
(vii) Their presence was merely symbolic in the INC.
(viii) Any other relevant point
Any five points to be explained Pg.
65
31 (A) Explain the features of primitive subsistence and commercial farming in 2+3=5
India.
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Primitive Subsistence Farming:
(i) This type of farming is still practised in few pockets of India.
(ii) Primitive subsistence farming practised on small patches of land.
(iii) Use primitive tools like Hoe, Dao and digging sticks.
(iv) This type of farming depends upon monsoon, natural fertility of soil and

suitability of essential condition to crops grown.
(v) Itis a slash and burn agriculture.
(vi) Any other relevant Points.

Any two relevant Points. 2x1=2

Commercial farming:
(i) The main characteristics of this type of farming is the use of higher doses

of modern inputs e.g., HY'V seeds, Chemical fertilizers insecticides and
pesticides.

(ii) It obtains higher productivity.

(iii) The degree of commercialisation of agriculture varies from one region to
another.

(iv) Plantation is also a type of Commercial farming.

(v) Example : Rice is a commercial crop in Haryana but in Odisha, it is a
subsistence crops.

(vi) Any other relevant point
Any three points to be explained from each part. 3x1=3
Pg.no30-31

OR

(B) Explain the features of intensive subsistence and plantation farming in
India.

Intensive Subsistence Farming:

(i) This type of farming is practised in areas of high population pressure on
land.

(ii) Itis labour-intensive farming

(iii) High doses of biochemical inputs

(iv) Irrigation is used for obtaining higher production.

(v) Any other relevant point.

Any two points to be explained. (2x1=2) 2+3=5

Plantation Farming:
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i. Itis atype of commercial farming.
ii. In this type of farming a single crop is grown.
iii. The plantation has an interface of agriculture and industry.

iv. Plantations cover large tracts of land intensive imports with help of
migrant labours.

v. Any other relevant point.

Any three points to be explained. Pg.35 (3x1=3)
32 (A) ‘Analyse the conditions under which democracies accommodate social 5X1=5
diversities.

i.  Democracies lead to peaceful and harmonious life among citizens.
ii.  Democracies have successfully negotiated differences among ethnic
populations.
ili. Democracy develops a mechanism to negotiate the differences.
iv.  Majority to work with minority
v.  Democracy develops a procedure to conduct competition
vi. A Democracy has the ability to handle social differences, divisions and
conflicts

vii.  Equal treatment of women is a necessary aspect of a democratic society.
viii. = Democracy has strengthened the claims of disadvantaged.
ix.  Any other point
Any five points to be explained.
Pg. 70
OR

(B) “Analyse the conditions under which democracies promote dignity and
freedom of citizens.

(i) Every individual wants to receive respect from fellow beings.
(ii) The passion for respect and freedom are the basis of democracy.
(iii) Democracies throughout the world have recognised dignity and freedom in

principle.
(iv) Dignity and freedom of the citizens have been achieved in various
degrees.
(v) Equal treatment of women is necessary ingredients of a democratic
society.
(vi) Democracy has strengthened the claims of disadvantaged. 5X1=5
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(vii) People have developed awareness and the ability to look critically

(viii) Any other relevant point

Any five points to be explained. Pg. 71

33 5x1=5
How do Multinational corporation (MNCs) interlink production across

countries? Explain with examples.

()  MNCs set up production where it is close to the markets; where there is
skilled and unskilled labour available at low costs.

(ii)  Availability of other factors of production is assured.

(iii)  The goods and services are produced globally as a result production is
organized in increasingly complex ways.

(iv) MNCs set up factories and offices for production where facilities are
available.

(v)  MNCs set up production jointly with some of the local companies.
(vi) Sometimes MNC place orders for production with small producers
(vii) MNCs set partnership with local companies.

(viii) MNCs exert strong influence on production at distant locations.

(ix)  Any other relevant points.

Any five points to be explained Pg.57

OR

(b)“Explain any five steps taken by the Central and State Government to
attract foreign investments.

(i)  Govt has removed barriers on foreign trade and foreign investment. 5x1=5
(ii) Liberalised policies have been introduced for globalization.

(iii) Industrial zones called special Economic Zones (SEZs) are being set up.

(iv) World class facilities like electricity, water, recreational, transport, storage

facilities have been provided to foreign companies.
(v)  Production unit in the SEZs do not have to pay taxes for first five years.

(vi) Government has also allowed flexibility to the labour laws to attract

foreign investment.

(vii) Foreign Direct Investments and deregulation policies.

(viii) Any other relevant point
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Any five points to be explained. Pg.64

Section —E 3x4=12
( Case Based/Source Questions)

34 Read the given source and answer the questions that follow: (History) 1+1+2=4

34.1 | 34.1 Why did Manchester imports decline in India? 1)

(1) Because British mills were busy with war production to meet the needs of army.
(i1) Any other relevant points.

34.2 Why could Manchester never recapture its old position in the Indian market
after the First World War?

ey
(1) Lack of modernisation and inability to compete with United State of America,
Germany, and Japan.

(i1) Any other relevant points.

34.3 Analyse any two benefits of the First World War to India.
(2x1=2)

1. Crumbling of the environment of Britain.

ii. Decline of import of British goods.

iii. Indian Companies were in good condition to produce things.

iv. Any other relevant points.

Any two points to be explained. Pg.97
35 | Read the given source and answer the questions that follow: Geography 1+1+2=4
35.1
35.1Name the movement against the river project in Gujarat. 1)

Narmada BachaoAndolan

35.2 How have the big dams mostly been unsuccessful in controlling floods at the
time of excessive rainfall?

ey
(1)Because big dams release of water from dams during heavy rains aggraved the flood
situation.

(i1)Any other relevant points.

35.3 Analyse any two merits of multi-purpose river projects.
(2x1=2)

(i) Generation of electricity

(ii) Canal for irrigation

(iii) Soil conservation in nearby areas

(iv) Any other relevant points

Get More Learning Materials Here : & m @&\ www.studentbro.in



Any two points to be explained PG-23

36 Read the given source and answer the questions that follow--Political Party 1+1+2=4
36.1 | 36.1 Explain the meaning of a ‘Political Party.’ (1)
(1) A political party is a group of people who come together to contest election and
hold power in the government.
(1)  Any other relevant points
Any One Point

36.2 “The rise of political parties is directly linked to the emergence of
representative democracies.” Support the statement.
ey
(1) Large Societies need representative democracy
(i1) Political parties give platform to elect representatives and representatives formed
the government.
(iii)) Any other relevant points
Any One Point

36.3 Why are political parties a necessary condition for a democracy? Explain.
(2x1=2)
i.  Political parties bring various representatives together so that a responsible
government could be formed.
ii.  They work as a mechanism to support or restrain the government, make policies,
justify, or oppose them.
iii.  Political parties fulfil the needs that every representative government has.
iv.  Any other relevant points
Any two Points PG-47
Section F 2+3=5
Map Skill Based Question
37 37 (a) and (b) — See attached Map.
37.a-i  Nagpur
ii- Amritsar ?2)

37.b-i Noida ( UP)
ii-Chattisgarh
iii- Maharashtra
iv- Haldia (3) ANY THREE

The following questions are for Visually Impaired Candidates only in lieu of Q.
No. 37. 1

Attempt any five questions.

37.1 Name the place where the session of Indian National Congress was held in 1
December 1920.

Nagpur
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37.2 Name the place where the Jallianwala Bagh incident occurred.

Amritsar !

37.3 Name any one major coffee producing state in India.

Karnataka !

37.4 Name the State where Bailadila iron ore mines is located.

Chhattisgarh !

37.5 Name the State whereTarapur nuclear power plant is located.

Maharashtra !

37.6 Name the State where Haldia ‘Sea port’ is located.

West Bengal !
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